114127 BAAKKE RIS R

WHUAE ROKE e
A | e IR BEEE W e sy | S0 me/L)| AR R ng/L)| BRI | Rl | TOE  \msmgs RimolL) | TR mglL) | R TR | MR
(CFU/100mL) (CFU/mL) (NTU) (mg/L)
5 0.1 10 250 0.1 500 0.2~1.0 6~8.5
6 100 2 300

111.12.05 | “AkEE | —MREAE FIE4R59F <l <l 0.05 <5 ND 0.35 53.8 ND 213 258 0.52 8.1 e
111.12.05 | “#kEE | fRARER2EL1009F <l 2 0.1 <5 ND 0.33 56.1 ND 225 270 0.54 79 e
111.12.05 |F5%0580 | =Rk EARBSES FEE3T45% <l <l 0.1 <5 ND 0.33 50.9 ND 217 268 0.51 8.2 e
111.12.05 |F5%640 | TEE11EE305% <l <l 0.1 <5 ND 0.02 66 ND 235 350 0.55 82 e
111.12.05 |F5%0580 (B kR oge345k <l <l 0.1 <5 ND 0.15 63.8 ND 220 358 0.58 8.2 e
111.12.05 |F5%0580 (BRI} SaRE T30 EE 1685% <l 1 0.05 <5 ND 0.08 74.2 ND 225 356 0.53 82 e
111.12.05 |F550580 | S}36RET550F3065F <l <l 0.05 <5 ND 0.14 66.6 ND 217 328 0.57 82 e
111.12.05 |F550580 | A 7k SERES5E <l <l 0.1 <5 ND 0.15 62.9 ND 212 378 0.56 82 e
111.12.05 |F5%0580 |5/ ERR2PL635F <l <l 0.1 <5 ND 0.13 68.7 ND 218 366 0.57 82 e
111.12.05 |F5%05%0 |75 2% FINEL3009F <l <l 0.05 <5 ND 0.15 62.3 ND 220 340 0.55 82 v
111.12.05 |F5%0580 |(EF005 8B 556 L3658 <l 1 0.05 <5 ND 0.12 59.2 ND 222 356 0.57 82 v
111.12.05 |F5%0580 |RRR 1808275 <l <l 0.1 <5 ND 0.15 69 ND 220 370 0.57 82 v
111.12.05 |F530588 |15k | Saps THIR EE 1319 <l 2 0.05 <5 ND 0.18 63.9 ND 223 293 0.52 82 v
111.12.05 |F5%0588 |1 5k | StRs TH{% EESOE:R5E <l <l 0.1 <5 ND 0.13 64.7 ND 225 338 0.57 82 v
111.12.05 |F5%0580 |BRPAS EARBSER FEE202 7 15F <l 1 0.1 <5 ND 0.33 55.5 ND 219 326 0.52 82 v
111.12.05 |F5%0580 |BRPABSFRET > S5% <l <l 0.05 <5 ND 0.32 62.4 ND 221 257 0.5 82 v
111.12.06 |F5AKHE | A HERS 1858 <l <l 0.1 <5 ND ND 6.4 ND 120 120 0.5 79 v
111.12.06 |F5AKHE | F5KEBE KBS EL605% <1 1 0.1 <5 ND 0.05 19.3 ND 169 168 0.46 8 v
111.12.06 |FKED [Hidhs = BkiET789% <l 2 0.1 <5 ND ND 9.6 ND 146 177 0.61 79 v
111.12.06 | KA sk RAET859% <l <l 0.1 <5 ND 0.06 29.7 ND 175 196 0.53 8 v
111.12.06 |F57K40 [3Haa i a2 KEE2EE 14958 <1 <1 0.1 <5 ND 0.6 20.7 ND 171 226 0.61 7.9 =Yy
111.12.06 |F57K40 [ aa i a2 /KEE2EE24358 <l 2 0.15 <5 ND 0.06 30.4 ND 171 218 0.58 79 v
111.12.06 |F5AKHE | FEFERE—EEO15% <l <l 0.05 <5 ND ND 54 ND 140 150 0.56 79 v
111.12.06 |SHEEHE |SEEHRR1EL1169E <l <l 0.1 <5 ND 0.06 21.6 ND 179 260 0.56 79 =X
111.12.06 |SHEEHE | SEHHRR 1ER6559% <l 1 0.1 <5 ND 0.05 22.3 ND 171 226 0.6 79 =X
111.12.06 |SHEEHS |H/KPROFL224-25% <l <l 0.1 <5 ND 0.06 22.8 ND 169 240 0.54 79 otk
111.12.06 |SHEEHE |22 KEROEL2T09% <l 2 0.1 <5 ND 0.06 23.6 ND 175 238 0.54 79 =X
111.12.06 |SHEEHE |22 KEROEL3179E <l <l 0.1 <5 ND 0.06 25.2 ND 173 212 0.56 79 =X
111.12.06 |SHEEHE |22 KER2FL35059% <l <l 0.1 <5 ND 0.05 21 ND 173 238 0.55 79 =X
111.12.06 |FEEHAD | = TR KRER8SHE <l <l 0.1 <5 ND 0.06 264 ND 171 193 0.49 8.1 =X
111.12.06 |HREUE | FEFERR1FL2935% <l <l 0.1 <5 ND 0.02 12.8 ND 154 145 0.51 79 =X
111.12.06 |HREUE | #E TER1-15% <l <l 0.15 <5 ND 0.05 24.5 ND 171 166 0.6 7.6 =X
111.12.07 |FEAESE | HrilIBR35T5% <l <l 0.05 <5 ND ND 13.7 ND 143 255 0.38 8 =X
111.12.07 |FEAESE | HrilIBR4T5% <l <l 0.1 <5 ND ND 28.6 ND 159 255 0.42 8 =X
111.12.07 |FEAESE | HIERROTS5E <l <l 0.1 <5 ND ND 16 ND 145 237 0.44 8 =X
111.12.07 |FEAESE | HHIERR4805% <l <l 0.05 <5 ND ND 16.3 ND 145 213 0.4 8 =X
111.12.07 |FEAESE | HIERR4805% <l <l 0.1 <5 ND ND 132 ND 139 215 0.42 8.1 =X
111.12.07 |FEAESE | SPEERROTSE <l <l 0.05 <5 ND ND 35 ND 123 175 0.53 7.8 =V
111.12.07 |BEBSA | PEEHOT5E <1 <1 0.1 <5 ND ND 38 ND 123 215 0.51 79 =l
111.12.07 |BEBSA | ERHERHST85% <1 <l 0.05 <5 ND ND 156 ND 141 230 0.46 8.1 =l
111.12.07 |FEAESE | /RZE2FRO45% <l 2 0.1 <5 ND ND 13.5 ND 137 222 0.58 7.8 =V
111.12.07 |BEBSA | Z2ATT19%% <1 1 0.1 <5 ND ND 15.7 ND 145 212 0.35 79 =Y
111.12.07 |FEAESE |RERIPR 1EL1845% <l <l 0.05 <5 ND ND 5.2 ND 121 215 0.6 8 =V
111.12.07 |FEARSE | RERIPR 1ER415% <l <l 0.1 <5 ND ND 15.7 ND 141 235 0.43 8 &tk
111.12.07 |FEAESE |RERIPR2ELO25E <l 1 0.1 <5 ND ND 33 ND 125 192 0.52 7.8 =V
111.12.07 |FEAEEE |{GHHPRSTRGR <l 2 0.1 <5 ND ND 15.5 ND 163 222 0.49 8 =V
111.12.07 |1EEHAD | IERE4EES915% <l <l 0.1 <5 ND ND 31 ND 177 263 0.61 7.9 =Yy
111.12.07 |1EEHAR | OERESER3115F <l 2 0.15 <5 ND ND 31.2 ND 179 290 0.43 8.1 =Yy




